
5885 E. Houston Street   |   San Antonio,  TX  78220
800.624.6225  |   877.ASK.LAVI  |   661.257.7800

sales@lav i .com  |   www. lav i .com

© 2025  Lavi Industries
All Rights Reserved.

87-111 07.24.14 Slatwall Bin.

Slatwall Bin

Assembly Instructions  •  Assembly Instructions  •  Assembly Instructions

Required Tools

Installation Instructions

1) Insert short brackets into left side of slatwall. 
(Figure A)

2) Insert large brackets into right side of  
slatwall. (Figure B)

3) Place Bin on top of brackets and center to 
top of frame. (Figure C)

4) Drill #8 screws into Bin and frame.  
(Figure D)

5) Position brackets with Bin side hole to insert 
1/4" screw and acorn nuts. (Figure E)

B

ED

LARGE RIGHT 
 BRACKET

(QTY 2)

SMALL LEFT
BRACKET
(QTY 2)

A

Parts List:

C

Slatwall
(sold separately) Slatwall Bin Slatwall Brackets (4)

1/4" screws and 
acorn nuts (4 ea.)

#8 Screws (5)

Drill and Phillips  
screwdriver bit Goggles

BIN TOPPER

CL

CLLARGE RIGHT 
BRACKET
(QTY 2)

SMALL LEFT
BRACKET
(QTY 2)

#8 Screws
(QTY 5)

1/4" Screws
(QTY 4)

Acorn Nut
(QTY 4)


